Potencias de 10

@)

4,921--0,1

2,547 +0,1

5,194 +0,1

6,697+ 0,1

7,244 +0,1

8,338 +0,1

8,913=0, 1

8,044+ 0,1

2,635+0,1

9,133 0,1

Calcule los siguientes cocientes.

0,086 0, 1

4,292+ 0,1

5,842-0,1

8,365+0, 1

0,259+ 0,1

7,029 0,1

7,716 -0, 1

2,046 0,1

5,369 =0, 1

6,23+-0,1
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Potencias de 10 (I) Respuestas

4,921=0,1
49,21
2,547 +0,1
25,47
5,194+0,1
51,94
6,697 =0, 1
66,97
7,244 +0,1
72,44
8,338 -0, 1
83,38
8,913 +0,1
89,13
8,044 +0,1
80, 44
2,635+0,1
26,35
9,133+0,1
91,33

Calcule los siguientes cocientes.

0,086+ 0, 1
0,86
4,292+0,1
42,92
5,842+0,1
58,42
8,365=0,1
83,65
0,259+ 0, 1
2,59
7,029+0,1
70,29
7,716 =0, 1
77,16
2,046+ 0,1
20,46
5,369+0, 1
53,69
6,23 +0,1
62,3
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